Starting Six

What is 35% of £130

4 N

/ Write 160 as a product of prime facfors\

Solve: 9x -5 =6x+ 7

_N ACCESS MATHS
\

-

Work out £2.69 x 25

\_ /
/ (a) Write 0.028 as a fraction \

(b)  Simplify your answer

\_

Score /6

/

\_
4

_/
N

Factorise: 55 — 15b

Factorise: x* - 7x + 12

www.accessmaths.co.uk

\_ /

_A




Starting Six

What is 35% of £130

4 N

/ Write 160 as a product of prime facfors\

Solve: 9x -5 =6x+ 7

_N ACCESS MATHS
\

-

Work out £2.69 x 25

\_ /
/ (¢) Write 0.028 as a fraction \

(d)

Simplify your answer

\_

Score /6

/

\_
4

_/
N

Factorise: 55 — 15b

Factorise: x* - 7x + 12

www.accessmaths.co.uk

\_ /

_A




